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QUESTION 1
Which statement describes a multi-cloud approach?
A. Cloud services which have been provisioned from a single provider but which span public and private infrastructure .

B. The process of building a single born-in-the-cloud application which leverages at least two of laaS, PaaS and SaaS
services.

C. A mix and match of cloud services from different providers, often to meet specific workload needs but with no
connection or orchestration between them.

D. The process of using several distinct IBM Cloud accounts to provide and ensure separation between different
applications for security purposes.

Correct Answer: D

QUESTION 2

In relation to Block Storage, why is | OPS an important consideration?

A. It can have an impact on application performance

B. If the slices are too small, an application will not have enough storage

C. The higher the flow, the faster the disk spins which can cause data corruption
D. A system must be designed so that it stores less data than this total

Correct Answer: A

QUESTION 3

What are two key business drivers of IBM Cloud for Skytap Solutions?
A. Higher IT asset unitizations

B. Accelerate software development cycles

C. Lower cost of development per release

D. Meet regulatory requirements

E. Customer centric production planning

Correct Answer: BD

QUESTION 4
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Deep Learning is most useful with what type of data?
A. Regional

B. Unstructured

C. Layered

D. Structured

Correct Answer: B

QUESTION 5

How is software packed in the IBM Cloud Private image repository?
A. Cloud Foundry

B. Docker Containers

C. Virtual Machines

D. Warden

Correct Answer: B
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